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PreCalculus —Review 1.3-2.1

one correct answer. Place your answer in the space

11 be given on some questions but not all of them.

=2(x—3)2+1</“f 1

PART I: MULTIPLE CHOICE Each problem has only
provided. Each problem is worth 4 points. Partial credit wi

Q‘_l. What are the transformations for the following equation: f(x)

@ vertical stretch, right 3, up 1 Vs G 0 ﬂk‘t 2

b. vertical compression, left 3, up 1
c. vertical stretch, left 3, up 1

d. vertical compression, right 3, down 1
e

. none of the above

d_2. Identify the vertex of the following equation: f(x) = (x + 4)? -3

, 7
oy (X--4) -3
c. (4,3) 7\ A
@(-4-3) N K

e. A turtle named ‘Bam’

d_ 3. Write the following equation given in standard form in vertex form, y = a(x — h)? + k, and identify the
vertex, (h, k), for:

f(x) = 2x% + 16x + 31 a:g b — \(p

ay=2(x—4)?-1, 4-1)
by = 2(x + 4)? — 65; (—4, —65) h= b
¢y=20x-42+1; (41) ;o

@y =2(x+42-1; (—4,-1) G
e. None of the above \< = —F(”H} - Z(V’L'D \_'l b(/q>+’g'
- 22 -y v2| = —|
Q_4. ‘The path. ofa dlv.er is given by y = —0.5x2 + 3x + 12, where y is the height (in feet) and x is the
horizontal distance (in feet) from the end of the diving board. What is the maximum height of the diver?
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Identify the parent function, and sketch each transformed graph.

=|x-3|+1 6.y=2(x—-5)3+9 7.y=V3x+1-4
Parent Function: P“OSD\U\;\:E: Parent Function: C(kbl Parent Function: SL[OM ¢ Va)‘t
Val
Graph: Graph: Graph:
Ll ¥i~ ] Ed
7\ s s
AN / 2 \ B
A i
54311 5 1 = 5 -4 3 -4 =
’1/

Describe the following Transformation

8. f(x)=-3x2+6 9.9x)=v-x+3-9 10. h(x)—-(x 1)3 -
— (eflect over X -~ veflect over i - \/ej()nca.\ wMe@bn G
- ghrekch A 5 -t 2 ~- right 1
“up b T down 9 ~ down T
Find the inverses for the following
11. f(x)={(0,3),(5,4),(8,9)} 12. £(x)={(0,5),(5,7),(8,3)} 13. f(x)= {(1,6),(7,4):(2,3)}
0= 539,45 088 £ (g 2(6 0/(37).8% i =50, 4H_F
, lt}(4 f(x)=4x+3 ) 15. g(x) =V2x — 16. h(x)—— (?52%
) U = 4rr3 Y= Fz’x"
sorp Y= AW % X= J/'
xﬁ\g \J/ X =
X = A= 4{'9 X+ = Y-
A 7y - M 3
' X=2 - . %2\ O X |
7 7Y(F0=F) ep= Y N
The graphs of function j w, graph their i mverses on the same coordinate plane:
17. 4 18, Mo
=7t L= s 0= -
4 = 5E), B0 4% o 7 (6,0, (2,§~

as vunyannSOE < Fzen axr 0
"\7L,\ %(o, \)LM)H% A L (+)
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